[ Efficiency vs vertpos |
~ 0.2

TIPS SO S T —

2 E : : :
O PPt AR
) 3 : : :
GO.LA i [ AR AR

QL F : .
%0.12_—----------: ------------------------ AREEEEEEEEE

O * --------- e

0.08f -+ e R RRE e
0.0BF+++-+xeeiee ; :

ook Ll e
0.021:.*#-- IR S o
+ | - .
o O N T ———
E : +H I T1E
LB TR T T
gl 4

1072 10 1 10 0?
TP vertr (cn%)

—=— DQM_original_stepZ_tibar-phasel-newgeom
mkFit_step2_ttbar-phasel-newgeom

—e— DQM_]
ici —— DQM_angle_step2_ttbar-phasel-newgeom
Efficiend —+— DOM fast_step2_ttbar-phasel-newgeom

N 0.2r

L S S S S S S

0 E : : : : :

Z0.16p - A & A Peneeee

> E : : : : :

2 F : : : : :

2014p ST

8] L . . . .

EL O ] el N SR e | B

o E : : : : :
0.1----- R T PEPEPEPE SR e
O 1 oo
00814 T .
0.04F- 913 -~~F ------- b i o
0.02F -+ {11 il o il L

° | PR PPN PP PP PO

T E | ;

o 1.05F ! i ]

£ ; : )
095t ! i TITTTAL | 1
=3 -20 -10 0 10 20 30

o

TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
$9.025
()
0.02
0.015
0.01

0008+ oo o

10 1520
Sim. PV z (cm)



	Contents
	Page 1


